Sruba M12x40-8.8 ; Bolt )
Podkt. sprez. 12,2 Spring Washer
Podkt okr. 13, Plain Washer

Nakretka M12 ; Nut
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. 13 ; Plain Washer

{

Sruba M12x40-8.8; Bolt

Nakretka M12 ; Nut
Podkt. sprez.12,2,; Spring Washer
Podkt. okr. 13, Plain Washer

Nakretka M12 ; Nut
Podkt. sprez.12,2; Spring Washer
Podkt okr. 13 ; Plain Washer

HAKRPO L

Nrkatalogowy ~ Marka

K/044 KIA Bongo lll  od 2006 -> 1. vas4683173 31

96-111 Kowiesy, Chojnata 23 A



